ARGAN SMOOTH

CREIGHTONS







Argan Smooth

Deep Moisture

Creightons have harnessed the natural power of Moroccan Argan Oil and have expertly developed Argan Smooth. Professionally formulated Argan Smooth includes a complete range of products that nourish, protect and add shine for salon finished hair everyday.



"Argan oil is a plant oil produced from the kernels of the argan tree (Argania spinosa L.), endemic to Morocco, that is valued for its nutritive, cosmetic and numerous medicinal properties. It is also known in cosmetic use as moroccan oil."





CN6700 MOISTURE RICH SHAMPOO

Deeply moisturising and shine enhancing shampoo for perfectly healthy hair SIZE: 250ML UOM: 6



CN7518 SHAMPOO

SIZE: 50ML SIZE: 50ML



CONDITIONER

CN6701 MOISTURE RICH CONDITIONER

Creamy rich conditioner that nourishes and repairs The hair, leaving it shiny, healthy and manageable SIZE: 250ML UOM: 6

CREIGHTONS

CONDITIONER

RALL HAIR TYPES

0mL @ 8.45 FL



CN6704 MIRACLE HAIR OIL

Light weight formula leaves hair shiny, smooth and silken to the touch
SIZE: 50ML UOM: 6



CN6702 DEEP CONDITIONING MASOUE

Deeply moisturises and strengthens dry or damaged hair. Leaves hair smoother, softer and more manageable. SIZE: 125ML UOM: 6



CN6703 HEAT DEFENCE SPRAY

specially formulated to help defend your hair against damage caused by heat styling SIZE: 150ML UOM: 6



Product Specifications

	Product Code	Brand	Variant	Size	Harmonised Tariff Code	Unit Bar Code	Unit Gross weight		Unit Width	Unit Height	Outer Case Size	Outer Bar Code	Outer Gross weight	Outer Length		Outer Height	Cases Per Layer	Layer Load	Full Pallet		20 Foot Container	20 Foot Container
	Sku			ML			gm	mm	mm	mm	units		Kg	mm	mm	mm	Std UK Pllt	Std UK Pllt	Std UK Pllt	Std UK Pllt	10 UK Pallets	10 UK Pallets
																	Cases	Layers	CASES	UNITS	CASES	UNITS
		Argan Smooth																				
C	N6 /00	Argan Smooth Shampoo		250ML	3305 1000	5015833303612	286	75	49	218	6	05015833303629	1.78	157	112	235	64	5	320	1920	3200	19200
C	N6 /01	Argan Smooth Conditioner		250ML	3305 9000	5015833303636	273	75	49	218	6	05015833303643	1.7	157	112	235	64	5	320	1920	3200	19200
C	JN6704	Argan Smooth Miracle Hair Oil		50ML	3305 9000	5015833307382	72	38	38	127	6	05015833307399	0.47	128	88	148	103	7	721	4326	7210	43260
C		Argan Smooth Deep Conditioning Masque		125ML	3305 9000	5015833312232	143	60	40	191	6	05015833312249	0.9	124	93	204	98	5	350	2100	3500	21000
C	CN6703	Argan Smooth Heat Defence Spray		200ML	3305 9000	5015833307429	222	48	48	190	6	05015833307436	1.4	150	105	205	70	5	350	2100	3500	21000
C	JN/518	Argan Smooth Travel Size Shampoo		50ML	3305 1000	5015833313185	62	54	35	107	24	05015833313192	1.55	220	153	125	32	8	256	6144	2560	61440
(N/519	Argan Smooth Travel Size Conditioner		50ML	3305 9000	5015833313208	62	54	35	107	24	05015833313215	1.55	220	153	125	32	8	256	6144	2560	61440





















